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-X28-MJD54622.45091_lc.txt / MJD 54622.450893 / burstid=8326

= i Grey line: exponential fit Peak flux: 0.448+/- 0.034 c/s/cm? 3
B #H ' Black line: power law + gauss fit Fluence : 13.06+/- 0.64 c/cm? B
Dashed line: power law i
- Duration: 113.15+/- 11.32s —
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; Exponential fit é
= Expon.time: 31.67+/- 1.97 s (chi*red= 1.18) =
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E Power law index: -1.182+/- 0.057 (chi*-red= 1.23) =
S onttth bt g 4 P g i .
= *ﬁiﬁ*ﬁﬁw ﬂﬁ ﬁﬂﬂww s Wl ++***+**++H**+*+*H***%*++H+++*+*+**+**+*++***+H*++******+***H**HWW“ ﬁH* Wﬁﬂj WWHM W W el
= ! =
i‘ I T T T T T T T T T I T T T T T T T T T I T i
— Power law fit plus Gaussian (st.dev.= 45.36+/- 2.51 s, fracgs= 0.45+/- 0.03) =
- Power law index: -4.227+/- 1.232 (chi*-red= 1.13) 7
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